
MATHS

BOOKS - RD SHARMA MATHS (ENGLISH)

RATIONALISATION

Others

1. If 
, find the value of 

Watch Video Solution

x = 3 + √8 x2 +
1

x2

2. If 
find the value of 

Watch Video Solution

x = ,
√3 + 1

2
4x3 + 2x2 − 8x + 7.

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_PucilODeKBuD
https://dl.doubtnut.com/l/_99eMJX4qsb99


3. Rationales the denominator and simplify:


Watch Video Solution

√3 − √2

√3 + √2

4. If 
, find the value of 

Watch Video Solution

x = 2 + √3 x3 +
1

x3

5. Rationalise the denominator of 

Watch Video Solution

1

3 + √2

6. Rationalise the denominator of 

Watch Video Solution

5

√3 − √5

https://dl.doubtnut.com/l/_RdCqzLQ7mo8L
https://dl.doubtnut.com/l/_aMHNUwnR0XIj
https://dl.doubtnut.com/l/_9CIVUdhNvXAT
https://dl.doubtnut.com/l/_Ncg58W2A35Bz


7. Rationalise the denominator of 

Watch Video Solution

1

7 + 3√2

8. Rationalise the denominator in each of the
following :
i) 
(ii) 
 (iii)

Watch Video Solution

2

7

2

3√3
2√7

√11

9. Given that 
approximately, find to three places of decimals

the value of 
.

Watch Video Solution

√5 = 2. 236

2

√5

10. Find the value to three places of decimals, of
  : It is given that

 ,
and 
(approx.)

Watch Video Solution

√10

√2 = 1. 414, √3 = 1. 732 √5 = 2. 236

https://dl.doubtnut.com/l/_X4GXSAvl1Uwm
https://dl.doubtnut.com/l/_w4q6HcBhRNu7
https://dl.doubtnut.com/l/_FLH2MCXevoQY
https://dl.doubtnut.com/l/_cDEhdVLKrKMF


11. Find the value to three places of decimals; of
 . It is given that


(approx.).

Watch Video Solution

√15

√2 = 1. 414, √3 = 1. 732, √10 = 3. 162and√5 = 2. 236

12. If  and 
 find the value of 
 upto

three place of decimals.

Watch Video Solution

√2 = 1. 414, √3 = 1.732 √3 + √6

13. Simplify each of the following by rationalising
 the denominator;


(ii) 
(iii) 
(iv) 

Watch Video Solution

1

5 + √2

5 + √6

5 − √6

7 + 3√5

7 − 3√5

2√3 − √5

2√2 + 3√3

https://dl.doubtnut.com/l/_cDEhdVLKrKMF
https://dl.doubtnut.com/l/_J7o6lutwKsCw
https://dl.doubtnut.com/l/_RLtFXIAAtyPK
https://dl.doubtnut.com/l/_TqYb98DluOkT


14. If both 
and 
are rational numbers, find the values of 
and 
in each

of the following equalities :


Watch Video Solution

a b a b

= a + b√3
√3 − 1

√3 + 1

15. Evaluate : 
 is being given that 


and 

Watch Video Solution

,
15

√10 + √20 + √40 − √5 − √80

√5 = 2. 236 √10 = 3. 1362

16. If 
find the value of 

Watch Video Solution

x = ,
1

2 − √3
x3 − 2x2 − 7x + 5

17. If 

Watch Video Solution

x = 1 − √2, f ∈ dthevalueof(x − )
31

x

https://dl.doubtnut.com/l/_dm3ojDQQVgPz
https://dl.doubtnut.com/l/_jYJn5GXkpEfV
https://dl.doubtnut.com/l/_EhuQHLL6oa3P
https://dl.doubtnut.com/l/_u8HOp32Omxd7


18. If ,find 

Watch Video Solution

x = 3 − 2√2 x2 +
1

x2

19. If 
and 
find 

Watch Video Solution

a =
2 − √5

2 + √5
b = ,

2 + √5

2 − √5
a2 − b2

20. If 
and 
, find 

Watch Video Solution

x =
√3 + √2

√3 − √2
y =

√3 − √2

√3 + √2
x2 + y2

21. Show that:

Watch Video Solution

− + − + = 5
1

3 − √8

1

√8 − √7

1

√7 − √6

1

√6 − √5

1

√5 − 2

https://dl.doubtnut.com/l/_CpUBdGi71zJJ
https://dl.doubtnut.com/l/_lHlWRGcB61Rc
https://dl.doubtnut.com/l/_AK1RhqIp58aZ
https://dl.doubtnut.com/l/_Q0qXdvB73oKb
https://dl.doubtnut.com/l/_zhelLA5ypu9B


22. Simplify each of the following :
 (i) 
 (ii) 


(iii) 

Watch Video Solution

+
3

5 − √3

2

5 + √3

+
4 + √5

4 − √5

4 − √5

4 + √5
−

√5 − 2

√5 + 2

√5 + 2

√5 − 2

23. If 
, find the value of 

Watch Video Solution

x = 2 + √3 x2 +
1

x2

24. Prove that:

Watch Video Solution

+ + + + +
1

1 + √2

1

√2 + √3

1

√3 +  √4

1

√4 + √5

1

√5 + √6

1

√6 + √

25. Simplify :


(i) 


(ii) 

Watch Video Solution

(5 + √5)(5 − √5)

(3 + 2√2)(3 − 2√2)

https://dl.doubtnut.com/l/_zhelLA5ypu9B
https://dl.doubtnut.com/l/_b5RW3hHiTRVx
https://dl.doubtnut.com/l/_XZa3LRBKfBgQ
https://dl.doubtnut.com/l/_2zIRLLRJ9nkE


Watch Video Solution

26. Simplify the following expressions:


(i) 


(ii) 

Watch Video Solution

(3 + √3)(2 + √2)

(5 + √7)(2 + √5)

27. Simplify each of the following:


(i) 



(ii) 

Watch Video Solution

(16) × (2)
1
5

1
5

(243)
1
4

(3)
1
4

28. Simplify the following expressions:


(i) 


(ii) 


(11 + √11)(11 − √11)

(5 + √7)(5 − √7)

https://dl.doubtnut.com/l/_2zIRLLRJ9nkE
https://dl.doubtnut.com/l/_14ZXfk7kzI4C
https://dl.doubtnut.com/l/_slzzUtRhywml
https://dl.doubtnut.com/l/_ek2YyxLHiDWi


(iii) 


(iv)

Watch Video Solution

(√8 − √2)(√8 + √2)

(√7 − 3)(√7 + 3)

29. Simplify the following expressions:
 (i) 
 (ii) 


 (iii) 
 (iv) 

Watch Video Solution

(4 + √7)(3 + √2)

(3 + √3)(5 − √2) (√5 − 2)(√3 − √5)

(√5 + √2)(√3 + √2)

30. Simplify each of the following:
 
(ii) 

Watch Video Solution

(i)43 × 163
12504

24

31. Simplify :


(i) 


(ii) 

(√5 + √2)
2

(√11 − √5)
2

https://dl.doubtnut.com/l/_ek2YyxLHiDWi
https://dl.doubtnut.com/l/_vGRTFbQn6Py9
https://dl.doubtnut.com/l/_uJv034Uryezq
https://dl.doubtnut.com/l/_9rJ3mEpJV7vy


Watch Video Solution

32. Rationalise the denominator of 
.

Watch Video Solution

2

√3

33. Simplify the following expressions:


(i) 


(ii) 

Watch Video Solution

(√3 + √7)
2

(2√5 + 3√2)
2

34. Simplify each of the following:


(i) 


(ii) 

Watch Video Solution

5√16 × 5√2

4√243
4√3

https://dl.doubtnut.com/l/_9rJ3mEpJV7vy
https://dl.doubtnut.com/l/_lkzVmycYWivY
https://dl.doubtnut.com/l/_7cZBvSv5mW6c
https://dl.doubtnut.com/l/_jEBghH3JYqXH
https://dl.doubtnut.com/l/_Ger8xNS9d41A


35. Simplify the following expressions:


(i) 


(ii) 

Watch Video Solution

(3 + √3) (2 + √2)

(5 +  √7) (2 + √5)

36. Simplify:


(i) 


(ii) 

Watch Video Solution

(5 +  √5) (5 −  √5)

(3 + 2√2) (3 − 2√2)

37. Simplify :


(i) 


(ii) 

Watch Video Solution

(√5 + √2)
2

(√11 − √5)
2

https://dl.doubtnut.com/l/_Ger8xNS9d41A
https://dl.doubtnut.com/l/_sr8Aj1azo2Oc
https://dl.doubtnut.com/l/_vp2v3KmpGxmp


38. Simplify each of the following:


(i) 


(ii) 

Watch Video Solution

3√4 × 3√16

4√1250
4√2

39. Simplify the following expressions:





Watch Video Solution

(i) (4 +  √7) (3 + √2)

(ii) (3 + √3) (5 − √2) (iii) (√5 − 2) (√3 − √5)

40. Simplify the following expressions:








Watch Video Solution

(i) (11 + √11) (11 −  √11)

(ii) (5 + √7)(5 − √7)

(iii) (√8 − √2) (√8 +  √2)

https://dl.doubtnut.com/l/_EB0woHDrzC3e
https://dl.doubtnut.com/l/_dmdwa6Pcj6PN
https://dl.doubtnut.com/l/_ElDEfW9SJAaZ
https://dl.doubtnut.com/l/_jYx26t0dw5Ih


41. Simplify the following expressions:


(i) 


(ii) 

Watch Video Solution

(3 + √3) (3 − √3)

(√5 −  √2 )(√5 + √2)

42. Simplify the following expressions:








Watch Video Solution

(i) (√3 +  √7)
2

(ii) (√5 − √3)
2

(iii) (2√5 + 3√2)
2

43. Rationalise the denominator of 

Watch Video Solution

2

√3

44. Rationalise the denominator of 
1

3 + √2

https://dl.doubtnut.com/l/_jYx26t0dw5Ih
https://dl.doubtnut.com/l/_7Z6XoBQ8nqNg
https://dl.doubtnut.com/l/_LJCK53VK9A7E
https://dl.doubtnut.com/l/_OzFQTI7aYVGA


Watch Video Solution

45. Rationalise the denominator of 

Watch Video Solution

5

√3 −  √5

46. Rationalise the denominator of 

Watch Video Solution

1

7 + 3√2

47. Rationalise the denominator in each of the
following:


(i) 


(ii) 


(iii) 

Watch Video Solution

2

√7
2

3√3
2√7

√11

https://dl.doubtnut.com/l/_OzFQTI7aYVGA
https://dl.doubtnut.com/l/_ZIa7yfjHQAba
https://dl.doubtnut.com/l/_c58JAAebEQ28
https://dl.doubtnut.com/l/_7UFq8sRzanFp


48. Given that 
 approximately, find the three places of

decimals
the value of 

Watch Video Solution

√5 = 2. 236

2

√5

49. Find the value of three places of decimals, of
 each of following: It is

given that 
 and 

(approx).
(i) 
(ii) 
(iii) 

Watch Video Solution

√2 = 1. 414,  √3 = 1. 732,  √10 = 3. 162 √5 = 2. 236

1

√2

1

√3

1

√10

50. Find the value of three places of decimals; of
each of the following. It

is given that 
and 

(approx).
 
(ii) 
(iii) 

Watch Video Solution

√2 = 1. 414,  √3 = 1. 732,  √10 = 3. 162 √5 = 2. 236

√2 + 1

√5

2 − √3

√3

√10 −  √5

√2

https://dl.doubtnut.com/l/_dZN44AXvFSG5
https://dl.doubtnut.com/l/_ZIhfgvoapG2T
https://dl.doubtnut.com/l/_si0ImMVTf7wc


51. If 
find the value of 
upto three places of decimals.

Watch Video Solution

√2 = 1. 414
√3

√6

52. Simplify each of the following by rationalising
the denominator:


(i) 



(ii) 

Watch Video Solution

1

5 + √2
5 + √6

5 − √6

53. Simplify each of the following by rationalising
 the denominator:


(ii) 

Watch Video Solution

7 + 3√5

7 − 3√5

2 √3 −  √5

2√2 +  3√3

https://dl.doubtnut.com/l/_GVa5nBLpeZj2
https://dl.doubtnut.com/l/_baWbbLdOIb05
https://dl.doubtnut.com/l/_Chnt0CEhKzqh


54. If both 
 are rational numbers, find the values of 
 in

each of the following equalities:


Watch Video Solution

a and b a and b

= a + b√3
√3 − 1

√3 + 1

55. If both 
 are rational numbers, find the values of 
 in

each of the following equalities:


Watch Video Solution

a and b a and b

= a + b√7
3 + √7

3 − √7

56. If both 
 are rational numbers, find the values of 
 in

each of the following equalities:


Watch Video Solution

a and b a and b

= a + b√3
5 + 2 √3

7 + 4 √3

57. If both 
are rational numbers, find the values of 
in each

of the following equalities:


a and b a and b

= a + b√3
5 + 2 √3

7 + 4 √3

https://dl.doubtnut.com/l/_YLDax6aGrEKq
https://dl.doubtnut.com/l/_jBuDwEtu8OOB
https://dl.doubtnut.com/l/_g5flIZ7WDNQH
https://dl.doubtnut.com/l/_d2AU1Q5OAoSD


Watch Video Solution

58. If both 
 are rational numbers, find the values of 
 in

each of the following equalities:


Watch Video Solution

a and b a and b

= 47 a +  √3 b
5 + √3

7 − 4√3

59. If both 
 are rational numbers, find the values of 
 in

each of the following equalities:


Watch Video Solution

a and b a and b

= a + b √15
√5 +  √3

√5 −  √3

60. If both 
 are rational numbers, find the values of 
 in

each of the following equalities:


Watch Video Solution

a and b a and b

= a − b √6
√2 +  √3

3√2  −  2√3

https://dl.doubtnut.com/l/_d2AU1Q5OAoSD
https://dl.doubtnut.com/l/_A5uWBXMQhjsm
https://dl.doubtnut.com/l/_XXOr0sO674B7
https://dl.doubtnut.com/l/_6d1hZJdM727C


61. Simplify :


Watch Video Solution

+
3

5 − √3

2

5 +  √3

62. Simplify: 

Watch Video Solution

+
4 +  √5

4 − √5

4 −  √5

4 +  √5

63. Simplify: 

Watch Video Solution

−
√5 − 2

√5 + 2

√5 +  2

√5 −  2

64. Prove that:

Watch Video Solution

− + − + = 5
1

3 − √8

1

√8 −  √7

1

√7 −  √6

1

√6 −  √5

1

√5 − 2

https://dl.doubtnut.com/l/_8b3MW6Lzl3zY
https://dl.doubtnut.com/l/_V8pMjWcK4e0M
https://dl.doubtnut.com/l/_PpQiQoddN4Bd
https://dl.doubtnut.com/l/_soWWI0xPpbd1
https://dl.doubtnut.com/l/_YkoRjwZX3Yl0


65. Prove that:

Watch Video Solution

+ + + + +
1

1 + √2

1

√2 + √3

1

√3 +  √4

1

√4 + √5

1

√5 + √6

1

√6 + √

66. If 
, find the value of 

Watch Video Solution

x = 2 + √3 x2 +
1

x2

67. If ,find 

Watch Video Solution

x = 3 − 2√2 x2 +
1

x2

68. If 
, find the value of 

Watch Video Solution

x = 1 − √2 (x − )
3

1

x

https://dl.doubtnut.com/l/_YkoRjwZX3Yl0
https://dl.doubtnut.com/l/_t5gWadKJ6dbE
https://dl.doubtnut.com/l/_LKeA3HBsLO1m
https://dl.doubtnut.com/l/_kCa5ejDWC3AI


69. If 
and 
, find 

Watch Video Solution

x =
√3 + √2

√3 − √2
y =

√3 − √2

√3 + √2
x2 + y2

70. If 
and 
find 

Watch Video Solution

a =
2 − √5

2 + √5
b = ,

2 + √5

2 − √5
a2 − b2

71. If 
find the value of 

Watch Video Solution

x = ,
1

2 − √3
x3 − 2x2 − 7x + 5

72. Evaluate : 
 is being given that 


and 

Watch Video Solution

,
15

√10 + √20 + √40 − √5 − √80

√5 = 2. 236 √10 = 3.1362

https://dl.doubtnut.com/l/_zcsJWIyhNNR4
https://dl.doubtnut.com/l/_v5lI6GK5iQiG
https://dl.doubtnut.com/l/_g0SB7JL9Y2Xu
https://dl.doubtnut.com/l/_FAC3dNeSEsaf
https://dl.doubtnut.com/l/_GdTNPlu4VrCt


73. Rationalise the denominator of each of the
following


(i) 



(ii) 

Watch Video Solution

3

√5
3

2√5

74. Rationalise the denominator of each of the
following


(i) 


(ii) 

Watch Video Solution

1

√12
√2

√5

75. Rationalise the denominator of each of the
following


(i) 


(ii) 


(iii) 

Watch Video Solution

√3 +  1

√2
√2 +  √5

√3
3√2

√5

https://dl.doubtnut.com/l/_GdTNPlu4VrCt
https://dl.doubtnut.com/l/_OiiCnQvhDPx7
https://dl.doubtnut.com/l/_olyBWUauspYV


76. Find the value to three places of decimals of each
of the following. 

It is given that 
 and 





(i) 
(ii) 

Watch Video Solution

√2 = 1. 414,   √3 = 1. 732 ,    √5 = 2. 236

√10  =   3. 162

2

√3

3

√10

77. Find the value to three places of decimals of each
of the following. It is

given that 
 and 


i) 
(ii) 

Watch Video Solution

√2 = 1. 414,   √3 = 1. 732 ,    √5 = 2. 236

√10  =   3. 162
√5 + 1

√2

√10 +  √15

√2

78. Find the value to three places of decimals of each
of the following. It is

given that 
 and 


(i) 
(ii) 

h id l i

√2 = 1. 414,   √3 = 1. 732 ,    √5 = 2. 236

√10  =   3. 162
2 +  √3

3

√2 −  1

√5

https://dl.doubtnut.com/l/_olyBWUauspYV
https://dl.doubtnut.com/l/_bvAjrVQwKqCT
https://dl.doubtnut.com/l/_e944IbPqBt6n
https://dl.doubtnut.com/l/_nwgGkhuH0d6z


Watch Video Solution

79. Express each one of the following with rational
denominator:


(i) 


(ii) 


(iii) 

Watch Video Solution

1

3 +  √2
1

√6 −  √5
16

√41 −  5

80. Express each one of the following with rational
denominator:


(i) 



(ii) 

Watch Video Solution

30

5√3 −  3 √5
1

2√5 −  √3

81. Express each one of the following with rational
 denominator:
 (i)


(ii) 
√3 +  1

2√2 −  √3

6 − 4√2

6 + 4√2

https://dl.doubtnut.com/l/_nwgGkhuH0d6z
https://dl.doubtnut.com/l/_43tRASnBcLMs
https://dl.doubtnut.com/l/_NsMd35V5b5B3
https://dl.doubtnut.com/l/_hHQY0SzWqtPd


Watch Video Solution

82. Express each one of the following with rational
denominator:

(i) 
(ii) 

Watch Video Solution

3√2 +  1

2√5 − 3

b2

√a2 + b2 +  a

83. Rationales the denominator and simplify:
(i) 
(ii) 

Watch Video Solution

√3 −  √2

√3  +  √2

5 + 2 √3

7 + 4 √3

84. Rationalies the denominator and simplify:
 (i) 
 (ii) 

Watch Video Solution

1 + √2

3 − 2√2
2√6 −  √5

3√5 −  2√6

https://dl.doubtnut.com/l/_hHQY0SzWqtPd
https://dl.doubtnut.com/l/_YQBenVtRFyuY
https://dl.doubtnut.com/l/_3cZcM9IyQZsM
https://dl.doubtnut.com/l/_Tu9S1Ks5qqmx


85. Rationalise the denominator and simplify:
 (i) 
 (ii) 

Watch Video Solution

4√3 + 5√2

√48 +  √18
2√3 −  √5

2 √2 +  3√3

86. Simplify:
(i) 
(ii) 

Watch Video Solution

+
3√2 − 2√2

3√2 +  2√3

√12

√3 −  √2
+

√5 +  √3

√5 −  √3

√5 −  √3

√5 +  √3

87. Simplify:
 (i) 
 (ii)

Watch Video Solution

−
7 + 3 √5

3 +  √5

7 − 3 √5

3 −  √5

+ +
1

2 + √3 

2

√5 −  √3

1

2 −  √5

88. Simplify:


Watch Video Solution

+ −
2

√5 +  √3

1

√3 +  √2

3

√5 +  √2

https://dl.doubtnut.com/l/_hVPbh21FQoYq
https://dl.doubtnut.com/l/_4ATxIcVQkImJ
https://dl.doubtnut.com/l/_WdicnzGRsQYm
https://dl.doubtnut.com/l/_90zeqLKJ6O99


89. In each of the following determine rational number
 
 (i) 


(ii) 

Watch Video Solution

a and b :

= a − b√3
√3 − 1

√3 + 1
= a − √b

4 +  √2

2 + √2

90. In each of the following determine rational number





Watch Video Solution

a and b :

(i)  = a + b√2
3 + √2

3 − √2
(ii)  = a + b√3

5 + 3√3

7 + 4√3

91. In each of the following determine rational number





Watch Video Solution

a and b :

(i)  = a − b√77
√11 − √7

√11 +  √7
(ii)  = a + b√5

4 + 3√5

4 − 3√5

92. If 
, find the value of x = 2 + √3 x3 +
1

x3

https://dl.doubtnut.com/l/_90zeqLKJ6O99
https://dl.doubtnut.com/l/_P5q4GEMrBNmF
https://dl.doubtnut.com/l/_DwySV88Be10h
https://dl.doubtnut.com/l/_7QP1EYUQesYf
https://dl.doubtnut.com/l/_DuNYgP3gGBnl


Watch Video Solution

93. If 
, find the value of 

Watch Video Solution

x = 3 + √8 x2 +
1

x2

94. Find the value of 
 , it being given that 

Watch Video Solution

6

√5 −  √3

√3 = 1. 732  and  √5 = 2. 236

95. Find the values of each of the following correct
 to three places of

decimals, it being given that


 and 


 


Watch Video Solution

√2 = 1. 4142,  √3 = 1. 732,   √5 = 2. 2360,  √6 = 2. 4495

√10 = 3. 162. (i) 
3 − √5

3 + 2√5
(ii) 

1 + √2

3 − 2√2

https://dl.doubtnut.com/l/_DuNYgP3gGBnl
https://dl.doubtnut.com/l/_ZxXfSYNtN2lO
https://dl.doubtnut.com/l/_Am64v00TokGG
https://dl.doubtnut.com/l/_g8xpsYwIMfqB
https://dl.doubtnut.com/l/_3VTkUm9w1N7l


96. If 
find the value of 

Watch Video Solution

x = √3 2x2 − 8x + 7.

97. Write the value of 

Watch Video Solution

(2 + √3)(2 − √3)

98. Write the reciprocal of 

Watch Video Solution

5 +  √2

99. Write the rationalisation factor of 

Watch Video Solution

7 − 3√5

100. If 
, find the value of = x + y√3
√3 − 1

√3 + 1
x and y

https://dl.doubtnut.com/l/_3VTkUm9w1N7l
https://dl.doubtnut.com/l/_ECoDTGoJhz1m
https://dl.doubtnut.com/l/_O7NACoojy7e0
https://dl.doubtnut.com/l/_gAgGDfLgRQtq
https://dl.doubtnut.com/l/_ZLS0M9DEg2XP


Watch Video Solution

101. If 
, then write the value of 

Watch Video Solution

x =  √2 − 1
1

x

102. Simplify :


Watch Video Solution

√3 + 2√2

103. Simplify:


Watch Video Solution

√3 − 2√2

104. If 
, then find the value of 

Watch Video Solution

a =  √2 + 1 a −
1

a

https://dl.doubtnut.com/l/_ZLS0M9DEg2XP
https://dl.doubtnut.com/l/_c88C0Bs3YDoz
https://dl.doubtnut.com/l/_tWbO4dWgti44
https://dl.doubtnut.com/l/_L9ja37luSdyI
https://dl.doubtnut.com/l/_5pPYb2UH6egl
https://dl.doubtnut.com/l/_IRUdM0tMpwNU


105. If 
find the value of 

Watch Video Solution

x = 2 +  √3, x +
1

x

106. Write the rationalisation factor of 

Watch Video Solution

√5 −  2

107. If  , then the value of  is

Watch Video Solution

x = 3 + 2√2 (√x − )
1

√x

108. √10*√15 is equal to (a) 6√5 (b) 5√6 (c) 7√5 (d) 10√5
 

Watch Video Solution

https://dl.doubtnut.com/l/_IRUdM0tMpwNU
https://dl.doubtnut.com/l/_gIksNLQcjq6R
https://dl.doubtnut.com/l/_Ih4IuXwO1PHO
https://dl.doubtnut.com/l/_aoOj4S0GU54v


109.  x 
is equal to:  


(a)  



(b) 



(c) 



(d) 
 
 

Watch Video Solution

65 65

365

625

65

125

110. The rationalisation factor of 
is


(a) 


(b) 


(c) 


(d) 

Watch Video Solution

√3

−√3

1

√3

2√3

−2√3

111. The rationalisation factor of 
is



(a) 


2 + √3

2 − √3

https://dl.doubtnut.com/l/_TOOfLLl7WyNv
https://dl.doubtnut.com/l/_KOP8pIoOkNqq
https://dl.doubtnut.com/l/_ANATgeMzBwAJ


(b) 


(c) 


(d) 

Watch Video Solution

√2 + 3

√2 − 3

√3 − 2

112. If 
then 
equals



(a) 


(b) 4

(c)
2 

(d) 

Watch Video Solution

x = √5 +  2, x −
1

x

2√5

√5

113. If 
, then



(a) 


(b) 


= a − b √3
√3 −  1

√3 +  1

a = 2,  b = 1

a = 2,  b = − 1

https://dl.doubtnut.com/l/_ANATgeMzBwAJ
https://dl.doubtnut.com/l/_YI6BtBsSIJNb
https://dl.doubtnut.com/l/_ms691TOilasg


(c) 


(d) 

Watch Video Solution

a = − 2,  b = 1

a = b = 1

114. the simplest rationalising factor of 3√500 (a)3√2 (b)3√5 (c)√3 (d)

none of

Watch Video Solution

115. The simplest rationalising factor of 
is



(a) 


(b) 


(c) 


(d) 

Watch Video Solution

√3 +  √5

√3 − 5

3 − √5

√3 − √5

√3 +  √5

https://dl.doubtnut.com/l/_ms691TOilasg
https://dl.doubtnut.com/l/_lYfKtAcnyn5Z
https://dl.doubtnut.com/l/_kXlkoAbabu5Y


116. The simplest rationalising factor of 
is



(a) 



(b) 



(c) 



(d) 

Watch Video Solution

2√5 − √3

2√5 +  3

2√5 + √3

√5 + √3 

√5 − √3

117. If 
, then 


(a)1


(b) 3 

(c)
6 

(d) 7

Watch Video Solution

x =
2

3 + √7
(x − 3)2 =

118. If 
 , then ?
 (a) 64
 (b) 134 (c)

194
(d) 

x = 7 + 4√3  and xy = 1 + =
1

x2

1

y2

1

49

https://dl.doubtnut.com/l/_x31PB2YFtAPO
https://dl.doubtnut.com/l/_VMJGXYJQargm
https://dl.doubtnut.com/l/_JhqZ6SjaQDfX


Watch Video Solution

119. If 
then 


(a)2


(b) 4 

(c)
8 

(d) 1

Watch Video Solution

x +  √15 = 4, x + =
1

x

120. If 
, then 
(a) 2
(b) 4 (c)
8 (d) 9

Watch Video Solution

x =  3√2 + √3 x3 + =
1

x3

121. If 
and 
, then 
(a) 9 (b)

5
(c) 17 (d)
7

Watch Video Solution

x =
√5 +  √3

√5 −  √3
y =

√5 −  √3

√5 +  √3
x + y + xy =

https://dl.doubtnut.com/l/_JhqZ6SjaQDfX
https://dl.doubtnut.com/l/_A7AOyLQbNCeb
https://dl.doubtnut.com/l/_uVeYCwetAfDx
https://dl.doubtnut.com/l/_Wef0Yy3ibMb8


122. If 
 and 
 , then 
 (a) 


(b) 99 (c)
98 (d) 102

Watch Video Solution

x =
√3 −  √2

√3 + √2
y =

√3 +  √2

√3 −  √2
x2 +  xy + y2 =

101

123. The value of
 
is



(a) 


(b) 


(c) 


(d) 

Watch Video Solution

√3 − 2 √2

√2 − 1

√2 + 1

√3 − √2

√3 +  √2

124. The value of 
is



(a) 


(b) 


√5 + 2√6

√3 − √2

√3 + √2

https://dl.doubtnut.com/l/_Wef0Yy3ibMb8
https://dl.doubtnut.com/l/_tm8YzJxOVfij
https://dl.doubtnut.com/l/_C6Kxf7o8OIkf
https://dl.doubtnut.com/l/_9RrYEQCCDhBp


(c) 


(d) none of these

Watch Video Solution

√5 + √6

125. If 
then 
 is equal to
 (a) 0.1718 (b)
5.8282 (c)

0.4142 (d)
2.4142

Watch Video Solution

√2 = 1. 4142, √
√2 − 1

√2 + 1

126. If 
find the value of 
upto three places of decimals.

Watch Video Solution

√2 = 1. 414
√3

√6

127. The positive square root of 

Watch Video Solution

7 + √48

https://dl.doubtnut.com/l/_9RrYEQCCDhBp
https://dl.doubtnut.com/l/_eyzDP1V6dEyB
https://dl.doubtnut.com/l/_mcSt0FxL8BVR
https://dl.doubtnut.com/l/_yvOtmocjeMs2
https://dl.doubtnut.com/l/_PwpA32LdyyFp


128. 
is equal to:



(a) 


(b) 


(c) 


(d) 

Watch Video Solution

1

√9 −  √8

3 + 2√2

1

3 + 2√2

3 − 2√2

−  √2
3
2

129. The value of 
is
(a) 
(b) 4 (c) 3
(d) 

Watch Video Solution

√48 +  √32

√27 +  √18

4

3

3

4

130. If  then find 

Watch Video Solution

x = √6 + √5 x2 + − 2
1

x2

https://dl.doubtnut.com/l/_PwpA32LdyyFp
https://dl.doubtnut.com/l/_CV7gYnnINb1e
https://dl.doubtnut.com/l/_i1ki06aAM6Yg

